
Powers 
of 

Exponents

Addition: You must have the SAME base, then combine like 

terms x4+x4 = x8

Subtracting: Just like with addition, you must have the same 

base. 3x4+x4 = 2x4

Multiplying: multiply the number of unknowns, then add 

exponents (X4)(X2) = X4+2 = X6

Dividing: Subtract the exponents
4X4 = 2X4-2 = 2X2

2X2

Power to a power: multiply the exponents
(X4)2 = X4*2 = X8

X0 always equals 1

Negative exponents: X-2 = 1
X2



factor

Ok, 2 ways to tackle this:

• Find factors of 6 and 9.
• Realize that in order to 

reverse distribute this, one 
of the factors of 6 
multiplied by a factor of 9 
and then added 
together, must equal -25.

• Create your two factors 
and start plugging in the
numbers.

• Determine which one 
works with the FOIL 
method.

3, 2 3, 3
6, 1 9, 1

(3m + 3)(2m -3)
(2m + 3)(3m -3)
(6m + 3)(1m -3)
(1m + 3)(6m -3)

(3m + 1)(2m -9)
(2m + 9)(3m -1)
(6m + 9)(1m -1)
(1m + 1)(6m -9)

OR…



Factor 6m2 – 25m - 9
Since the leading coefficient isn’t a “1” (it is a “6”),
this can be a little more complicated. 

You decide which method is easiest for you!

• Find factors of (6)(9) = 54 that add up to -25.
• We will use -27 and +2
• Then we can split that middle term (-25m) into 2

terms
6m2 – 27m +	2m – 9

• Now, factor	in	pairs
(6m2 – 27m)	+	(2m – 9)
3m(2m	– 9)	+	1(2m	– 9)

• Since they both have (2m-9),	you	can	combine	the	others	to	
form	the	answer.

3m(2m	– 9)	+	1(2m	– 9)

(3m +1)(2m-9)

Personally, I think this way is simpler, but if you 
did not originally learn this way, it may take 
some getting used to.



 
 
 

 

 
 
 

 

 
 
 

 

Solve each equation.

Simplify each expression and write in scientific notation.

 
 
 

 
 

Write each number in standard notation


